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QUESTION NO: 1

An administrator is concerned that a VM on a hybrid cluster with 8GB RAM and 4 vCPUs is performing poorly. An analysis of
the VM indicates that CPU utilization is at 50%. Memory utilization is at 30%. and disk latency is at 18ms.

What can the administrator do to improve performance?
A. Add2xvCPU

B. Add 4GB RAM

C. Increase vDisksize

D. Enable Flash Mode

ANSWER: D

QUESTION NO: 2

An administrator has recently added two additional nodes to an existing three-node Nutanix cluster, which hosts critical
business application VMs. The administrator will tolerate losing up to two nodes simultaneously within the cluster.

Which two actions are required to achieve this with minimum effort? (Choose two.)
A. Modify cluster to RF3

B. Migrate VMs to new RF3 container

C. Convert container to RF3

D. Create a new RF3 container

ANSWER: AC

QUESTION NO: 3

Refer to the exhibit.

An administrator has received the error shown in the exhibit.
Which two steps should the administrator take, in preparation for opening a Nutanix support ticket? (Choose two.)

A. Get the Block Serial Number from the Hardware Page
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B. Get the Node Serial Number from IPMI
C. Get the DIMM Slot Number from the node BIOS

D. Get the AOS version from the Settings Page

ANSWER: B C

QUESTION NO: 4

An administrator wants a VM to communicate with two separate VLANs. What steps should the administrator complete?
A. Add two NICs to the VM and configure one for each VLAN

B. Add a single NIC to the VM and configure it for both VLANs

C. Turn on IPAM for autoconfiguration of VLANs

D. Configure a Security Policy to assign VLANs to the VM

ANSWER: A

QUESTION NO: 5

An Administrator has recieved the following critical alert:

Node 192.168.148.172 is marked to be detached from metadata the administrator has opened a case with Nutanix and the
support engineer has requested more information about the error.

which two action should the administrator take in the health check dashboard to collect the requested
information? choose two

A. Open A remote support tunnel

B. Run Logbay

C. Create an entity chart

D. Run Nutanix cluster check

ANSWER: BD

QUESTION NO: 6

An administrator expanded the disk capacity on a Windows VM, but the VM operator saw no difference in free space. Which
additional step must the administrator take?

A. Reboot the Virtual Machine
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B. Convert to a dynamic disk
C. Expand the current partition

D. Reconnects to iSCSi target

ANSWER: C

QUESTION NO: 7

Which two entity types can be exported by an administrator who only has access to Prism Element? (Choose two.)
A.VM

B. Storage

C. Health

D. Network

ANSWER: AB

QUESTION NO: 8

An administrator has moved several workloads from a legacy vSphere virtual infrastructure to a modern Nutanix AHV cluster.
After performing this action the administrator realizes they are missing vCenter inventories that would be used to classify the
VMs by specific prefixes.

What is the fastest way in Prism Central to group VMs with the specified criteria?

A. Fitters

B. Categories

C. Projects

D. Analysis

ANSWER: B

QUESTION NO: 9

Refer to the exhibit.
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Data Resiliency Status ? x

FAULT DOMAIN TYPE: HOST

Static |

Configuration

ZooKeeper 0 Desired faull tolerance for
Ffookeeper is 1 but we can

tolerate only O node failurefs)

slargate Q Based on unhealthy node hst
Health {5.) the cluster can tolerale a

maximum of 0 node faillure(s)
Oplog 1

Metadata 0 Metadala ring partitions with
nodes: 1921681.33,
192168.1.31, 192168 1.32 are
not fault tolerant

Bxtent Groups 1

Erasure Code 1
An administrator notices that the Data Resiliency Statue of some components has been reduced to 0. making it impossible to
support a
node failure in the cluster.
What type of failure is most likely the cause of this issue?
A. Block
B. Disk
C.CVM
D. Nods

ANSWER: C

QUESTION NO: 10
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Which two Nutanix features offer the ability to restore a VM? (Choose two.)
A. Data Protection

B. Nutanix Leap

C. Nutanix Flow

D. Site Recovery Manager

ANSWER: AB
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